
 
 
 
 BA_TASC_400004 Version 0 
 

 

 

 MONTAGE- UND BETRIEBSANLEITUNG 
 INSTALLATION AND OPERATING INSTRUCTIONS 
 INSTRUCTIONS DE MONTAGE ET D'UTILISATION 

 

  

 30.12.2020 

 
 

-53797 Lohmar 
Tel.: +49 2246 12-0   |   Fax: +49 2246 12-3501 
www.walterscheid.com 
 

 
 

  



 

 
 
 
 
BA_TASC_400004_Ahb_Allgemein.docx

 
 
2 

 

 

Zum Einsatz an land- oder forstwirtschaftlichen (lof)-Zugmaschinen. 
 

siehe Typenschild, Typgenehmigung, Produktdatenblatt oder Einzelgutachten. 
 

 

 HINWEIS: 
Sofern nach geltenden nationalen Zulassungsbestimmungen des jeweiligen Anwender-

er 
 

 

(Ahb) ist mit folgenden Verbindungseinrichtungen zu betreiben: 
 einer automatischen Walterscheid - Fangmaul IN2000 oder IN2000X. 
 - Fangmaul IN5410 oder KU5400. 
 einem Walterscheid -Pitonbock PB5300 oder PB5300K. 
 einem Walterscheid -Kugelbock KB8300 oder KB8300K. 
 einem Walterscheid -Kugel-Innenteil KI8300. 
 einem geeigneten Walterscheid -Kugelbalken Typ K im Ahb vor-

handen ist. 
 einem geeigneten Walterscheid -Pitonbalken 

handen ist. 
 eine   im Ahb vorhanden ist. 
 dem fest eingebauten Zugzapfen (Piton-Fix), falls vorhanden. 
 der fest eingebauten Kupplungskugel 80, falls vorhanden. 

 

 

 WICHTIG: 
- oder einem Pitonbock sind die Ge-

schwindigkeitsbegrenzungen sowie die Kennwerte der entsprechenden Verbindungsein-
richtung  

 

 

 WICHTIG: 

der oben angegebenen Komponenten 
sein. 

 

(siehe Bilder 3-6) 

gende Kennbuchstaben der Bock- verwendet: 
  
 on-Fix und Rastschiene. 
 -Up Hitch. 
  



 

 
 
 
 
BA_TASC_400004_Ahb_Allgemein.docx

 
 
3 

 

 

 
 

 

 WICHTIG: 
Beim Einsatz einer Verbindungseinrichtung oberhalb der Zapfwelle sind die Angaben des 

2 t. 
Beim Einsatz einer Verbindungseinrichtung sind nur unterhalb der 

 
 

Der Zugzapfen (Piton-
 

Die Kupplungskugel 80 ist geeignet zur Verbindung mit 
ISO 24347. 
 

en. Die Zwangs-
lenkungsteile werden seitlich an zwei M20-Gewindebohrungen ge-

wendig. Das Anzugsmoment der M20- 60 Nm. 

Kugel 50 20 kN Kalotte 50 

Bolzen 25 bzw. 30 40 kN Gelenklager ISO 12240 Form G  

Siehe auch Anhang oder separates Dokument BA_TASC_400013, www.walterscheid.com/downloads/. 
 

 

 

 

WICHTIG: 
Bei allen in diesem Dokument beschriebenen Demontage-
men sind zur Vermeidung von Verletzungen Schutzhandschuhe, Schutzbrille 
und Sicherheitsschuhe zu tragen. 

Umwelt: 
Schmierstoffe in die Umwelt gelangen. Um Umweltverschmutzung zu vermeiden: Schmierstoffe 

 
 
 

 

 

WARNUNG: 
Beim Ein- und Auskuppeln sind die Vorschriften der Berufsgenossenschaft zu beachten. 
Es darf niemand zwischen den Fahrzeugen stehen. Die Verbindungseinrichtung ist aus-

 
 

 

 HINWEIS: 

Zulassungsbescheinigung 
 

 
 



 

 
 
 
 
BA_TASC_400004_Ahb_Allgemein.docx

 
 
4 

 

 

siehe Anhang oder separates Dokument BA_TASC_400027, www.walterscheid.com/downloads/.  
 Geeignete Verbindungseinrichtung mit Schiebeplatte 

einschieben. 
 Durch Einrasten der Schiebeplatte 

die Verbindungseinrichtung je-
weiligen Verbindungseinrichtung). 

 
 

 

 HINWEIS: 
Beim Anbau de Bestimmungen (z. B. UVV Fahr-
zeuge) sowie die Anbaurichtlinien der Fahrzeughersteller zu beachten! 
Der Anbau de
ordnung (EU) 2015/208, Anhang 34, zu erfolgen. 

 

ller zur Befestigung zu beachten. 
Bei fehlenden Angaben gelten folgende Richtwerte *): 

 Sechskantschrauben ISO 4014  M12  10.9: Anzugsmoment 135 Nm *) 
 Sechskantschrauben ISO 4014  M14  10.9: Anzugsmoment 215 Nm *) 
 Sechskantschrauben ISO 4014  M16  10.9: Anzugsmoment 335 Nm *) 
 Sechskantschrauben ISO 4014  M18  10.9: Anzugsmoment 470 Nm *) 
 Sechskantschrauben ISO 4014  M20  10.9: Anzugsmoment 660 Nm *) 

 
-

 
 
Die Gefahr des Durchfallens des Innenteils wird i. d. R. durch eine Schraube ISO 4762 (DIN 912) - M12, 

 
 

 werden. Er ist wahlweise 
dreh- 
den Zapfwellenschutz aus dem Bereich der Rastschiene heraus zu bewegen. 
 

 

WARNUNG: 
Beim Ein- und Auskuppeln sind die Vorschriften der Berufsgenossenschaft zu beachten. 
Es darf niemand zwischen den Fahrzeugen stehen. Die Verbindungseinrichtung ist aus-

 
 

 
(siehe Bild 1) 
Der Niederhalter kann wahlweise als Kipp- oder  Der Piton-Fix ist 

 Die Bedienung mit Schwenkhaken ent-
spricht dem mit Kugel 80, siehe Punkt 3.2. 
 



 

 
 
 
 
BA_TASC_400004_Ahb_Allgemein.docx

 
 
5 

 

 

 
ausziehen. 

 Den Kipphaken (1) in Fahrtrichtung kippen. 
  
  
  
 Mit dem Kipphakenbolzen (2) und dem Klappstecker (3) sichern. 

 

  
 . 
 Den Kipphaken (1) in Fahrtrichtung kippen. 
 Die Zugdeichsel mittel  
 Zugfahrzeug nach vorne bewegen. 
 

sichern. 
 

 
(siehe Bild 2) 
 
siehe Anhang oder separates Dokument BA_TASC_400028, www.walterscheid.com/downloads/. 
 
 

 

 

lungskugel 
 

 Niederhalter von Piton 
bzw. Kugel 80 gereinigt werden. Hierzu werden erst die Niederhalter-Bolzen entfernt, der Nieder-
halter komplett aus der Lagerung herausgezogen und der in der Lagerung befindliche Schmutz 

 
 

rung mit Fett versorgt werden.  
 

gebock sofort nach zu fetten. 
 

den Temperaturbereich zwischen eeignet ist. 
 

30 mm 32 mm X 

32 mm 34 mm X 

294 mm 297 mm  

310 mm 313 mm  



 

 
 
 
 
BA_TASC_400004_Ahb_Allgemein.docx

 
 
6 

 

 

323 mm 326 mm  

330 mm 333 mm  

336 mm 339 mm  

390 mm 393 mm  

44,5 mm 41,5 mm X 

80 mm 78,5 mm X 
(siehe hierzu auch -Merkblatt 712). 
 
Sind die 
tauscht werden. 
 

-
ren herangezogen werden. 
 

wie Niederhalter, Kupplungskugel oder Zugkugelkupplung auszutauschen. Beim Austausch des Nie-
derhalters ist auch stets die Feder der Stellschraube zu tauschen. 
 

Die Kugel 80 kann bis zu zweimal ausgetauscht werden, siehe AUSTAUSCH KUGEL 80 BEI 
unter www.walterscheid.com/downloads/anlei-

tungen/ATASC1901.0_400025. 
 

 

 WICHTIG: 
-Ersatzteile zu 

verwenden. Der Austausch ist, soweit der 

werkstatt vornehmen zu lassen. 
 

 

WARNUNG: 

 Der Anwender ist verpflichtet, die 
zu betreiben und die Benutzung durch Unbefugte zu untersagen. 

  
 nicht gestattet. 

 
 

 
siehe Anhang oder separates Dokument BA_TASC_400029, www.walterscheid.com/downloads/ 
 



 

 
 
 
 
BA_TASC_400004_Ahb_Allgemein.docx

 
 
7 

 

 

 

For use on agricultural or forestry vehicles. 
 

see typeplate, approval document, product data sheet or test report for single type approval. 
 

 

 NOTE: 
If the valid national approval regulations of the respective country of use require additional 
official approvals for using these parameters, such approvals must be applied for. 

 

The towing frame is exclusively to be used with following connecting devices: 
 an automatic Walterscheid clevis-type coupling with slider (e.g. type IN2000). 
 a non-automatic Walterscheid clevis-type coupling with slider (e.g. type IN5410). 
 a Walterscheid piton coupling (e. g. type PB5300 or PB5300K). 
 a Walterscheid ball 80 coupling (e. g. type KB8300 or KB8300K). 
 a Walterscheid ball 80 coupling type with slider KI8300. 
 a suitable Walterscheid piton-type drawbar type KBa, if there is a support in the frame therefore. 
 a suitable Walterscheid ball 80 drawbar type KBa, if there is a support in the frame therefore. 
 a suitable drawbar, if there is a support in the frame therefore. 
 the fix mounted ball-type coupling - if there is one. 
 the fix mounted piton-type coupling - if there is one. 

 

 

 IMPORTANT: 
The speed limits and characteristic values of the corresponding implements must be ob-
served when using a standard pin coupling, a ball-type or a piton-type coupling. The lower 
value applies in each case. 

 

 

 IMPORTANT: 
Attention must be paid also on the maximum distance from the center of the guide rail of 
the towing frame up to the coupling point of the mounted connecting device. The coupling 
point distance should not be more than on the above mentioned coupling devices. 

 

(see fig. 3-6) 
Towing frames are available in different versions. With Walterscheid the following identification letters 
of the support type are used in the respective designation: 

  
 with firmly mounted Piton-Fix and guide rail. 
 -Up Hitches 
 - -type coupling and guide rail. 

Please note that these four versions do not generally exist for each type of towing frame! 
 



 

 
 
 
 
BA_TASC_400004_Ahb_Allgemein.docx

 
 
8 

 

 

 

 WICHTIG: 
For use of connecting devices above the PTO (top attachment), pay attention to the ver-
tical load defined by the vehicle manufacturer, which is usually limited to 2 tons. 
Only below PTO (bottom attachment) higher vertical loads are possible, for details see 
type approval or special expertise. 

 

The piton (piton-fix) is suitable for connection to trailer rings according to ISO 5692 and ISO 20019 
(limited, see trailer ring). 
The hitch ball 80 is suitable for connection to ball-type trailer shanks 80 according to ISO 24347. 
 

towing frames are suitable for forced steering devices type ZWL 
50 or ZWL 25/30. Attention must be paid to the steering force of the 
trailer. The steering devices can be mounted on either one side or both 
sides of the towing frame by means of two M20-bolts (see figure on the 
right). An additional bracket may be required. The tightening torque is 
660 Nm. 

ball 50 mm 20 kN Spherical cap 50 

pin 25 / 30 mm 40 kN Spherical plain bearing ISO 12240 form G  

See also attachment or separate document BA_TASC_400013, www.walterscheid.com/downloads 
 

 

 

 

IMPORTANT: 
To avoid injury, protective gloves, safety glasses and safety shoes must be 
worn during all dismantling/ assembly actions described in this chapter. 

Environment: 
Lubricants can enter the environment. Environmental pollution: Collect, store and correctly dispose of 
lubricants in suitable containers. 
 
 

 
 

 

 NOTE: 
Official national regulations must be observed. For example: in Germany the obligations 

as well as the permissible vertical load must be considered. 
 

 

WARNING: 
The pertinent safety regulations must be observed when coupling and uncoupling. 
No one may stand between the vehicles. The coupling may only be operated in locked 
condition. 

 

See attachment or separate document BA_TASC_400027, www.walterscheid.com/downloads. 
 Push suitable slider with connecting device from above into the slots of the guide rails of the towing 

frame. 

 



 

 
 
 
 
BA_TASC_400004_Ahb_Allgemein.docx

 
 
9 

 

 

 The height of the connecting device can be adjusted by engaging the slider in the corresponding 
holes in the guide rails (in this context, see also the Operating Instructions for the couplings). 

 
 

 

 

 NOTE: 
The pertinent regulations (e.g. Accident Prevention Regulations for Vehicles) and the at-
tachment guidelines of the vehicle manufacturers must be observed when installing the 
towing frame! 
The attachment of the coupling to the vehicle must be carried out in accordance with the 
requirements of Regulation (EU) 2015/208, Appendix 34. 

The towing frames are fastened to the tractor gearbox housing by means of screws quality 10.9. Nor-
mally the bolts are not included in the scope of supply. Therefore the data of the vehicle manufacturers 
are to be preferred for attachment.  With missing data the following tightening torques *) are to be con-
sidered: 

 Hexagon bolts ISO 4014 (DIN 931)  M12  10.9: tightening torque 135 Nm *) 
 Hexagon bolts ISO 4014 (DIN 931)  M14  10.9: tightening torque 215 Nm *) 
 Hexagon bolts ISO 4014 (DIN 931)  M16  10.9: tightening torque 335 Nm *) 
 Hexagon bolts ISO 4014 (DIN 931)  M18  10.9: tightening torque 470 Nm *) 
 Hexagon bolts ISO 4014 (DIN 931)  M20  10.9: tightening torque 660 Nm *) 

With other kinds of bolts or qualities contact us or your specialist dealer. 
*) values are valid for a total coefficient of friction of = 0.14 (corresponds to non-lubricated slightly oiled 
and phosphatized surface quality). 
 
The risk of the slider falling through is prevented by an ISO 4017 - M12 bolt which is screwed into the 
left-hand guide rail of the towing frame and serves as a stop for the inner slider. 
 
Only the PTO (rotating or sliding) guard can be operated on the towing frame. To adjust the height of 
the trailer coupling, it may be necessary to move the PTO guard out of the area of the guide rail. 
 

 

WARNING: 
The pertinent safety regulations must be observed when coupling and uncoupling. 
No one may stand between the vehicles. The coupling may only be operated in locked 
condition. 

 

(see fig. 1) 
The retainer can be implemented alternatively as tilting or swiveling hook. The piton-fix may only be 
operated with the retainer closed. 
The operation with swiveling hooks corresponds to that the ball-type coupling and is similar to point 3.2. 
 

 Remove the linch pin (3) of the retainer pin (2) and pull out the pin. 
 Turn the tilting hook (1) in drive direction. 
 Move the trailer ring over the piton (4). 
 Lower the trailer ring / drawbar by means of the drawbar support or a similar device until it covers 

the piton. 



 

 
 
 
 
BA_TASC_400004_Ahb_Allgemein.docx

 
 

10 

 

 

 Turn the tilting hook (1) back, so that it secures the trailer ring. 
 Secure with the retainer pin (2) and the linch pin (3). Check the correct fit of the linch pin. 

 

 Use supporting jacks or similar to stop the trailer rolling away. 
 Remove the linch pin (3) of the retainer pin (2) and pull out the pin. 
 Turn the tilting hook (1) in drive direction. 
 Move up the trailer ring / drawbar by means of the drawbar support or a similar device 
 Move the tractor forwards. 
 Turn the tilting hook (1) back and secure with the retainer pin (2) and the linch pin (3). 

 
 

(see fig. 2) 
 
See attachment or separate document BA_TASC_400028, www.walterscheid.com/downloads 

 
 

 
 

 Any dirt and corrosion must always be cleaned off the towing frame to guarantee correct operation. 
All moving parts of the towing frame, the guide rails and also the hitch ball, must be lubricated 
regularly (depending on the length of use) and checked for ease of movement. 

 The retainer of piton-fix and ball 80 should be pulled out completely at regular intervals, dependent 
on the schedule density, and any dirt in the bearing has to be eliminated. Both retainer pins must 
be removed beforehand for this purpose. Subsequently re-grease the bearing. 

 Ball coupling: If a lubrication fitting is provided on the ball-type trailer shank, the ball can be fed with 
grease via the central lubrication. 

 If possible, avoid cleaning with a high pressure cleaner. If this is unavoidable, re-grease the towing 
frame soon. 

 For lubrication, remove the old grease and lubricate the towing frame with fresh grease. The towing 
frame must be lubricated with water-resistant, multi-purpose grease suitable for the temperature 
range from -  

 

30 mm 32 mm X 

32 mm 34 mm X 

294 mm 297 mm  

310 mm 313 mm  

323 mm 326 mm  

330 mm 333 mm  

336 mm 339 mm  

390 mm 393 mm  

44,5 mm 41,5 mm X 

80 mm 78,5 mm X 
-Merkblatt 712). 



 

 
 
 
 
BA_TASC_400004_Ahb_Allgemein.docx

 
 

11 

 

 

 
If these wear limits are reached, either the towing frame or the piton or the ball must be replaced. The 
piton-fix or the ball 80 may only be replaced by the licence holder or a specialist workshop authorised 
by the licence holder. 
 
Separately available Walterscheid test gauges can be used to comfortable control some of the wear 
limits. 
 
If the vertical play of the hitched trailer ring on the piton or of the trailer socket exceeds 5 mm, the 
appropriate part such as the retainer, the swiveling or tilting hook or the coupling unit itself must be 
replaced. Replacing the adjustable retainer always also requires the spring of the set screw to be 
changed. 
 

The ball can be replaced twice at most, see REPLACING BALL 80 ON HITCH SUPPORTS AND 
OTHER BALL PRODUCTS under www.walterscheid.com/downloads/anleitungen/ 
ATASC1901.0_400025. 
 

 

 IMPORTANT: 
Use only original Walterscheid spares when replacing parts. If the vehicle owner does not 
have the appropriate skilled workers and the necessary technical equipment, the replace-
ment may only be performed by a specialist workshop. 

 

 

WARNING: 

 The user is obliged to always operate the coupling in perfect condition and to forbid its 
use by unauthorised persons. 

 The loads indicated on the type plate may not be exceeded. 
 Unauthorised conversion or modification of the coupling is not permitted. 

 
 

 
See attachment or separate document BA_TASC_400029, www.walterscheid.com/downloads 

  



 

 
 
 
 
BA_TASC_400004_Ahb_Allgemein.docx

 
 

12 

 

 

 
 

pour une utilisation sur tracteurs agricoles et forestiers. 
 

, fiche technique du produit ou rapport individual. 

 

CONSIGNE : 

 
-dessus de la prise de force, il convient de respecter les indications 

 

 
 un attelage automatique IN2000). 
 un attelage non-automatique IN5410). 
 un support de piton Walterscheid (p.ex. PB5300 ou PB5300K). 
 un support de boule  80 de Walterscheid (p.ex. KB8300 ou KB8300K). 
  80 de Walterscheid KI8300. 
 une porte-boule de Walterscheid type PBa, s'il y a un support pour cela 

 
 une porte- de Walterscheid type KBa, s'il y a un support pour cela 

 
 , s'il . 
 . 
  . 

 

seront c  
 

(voir fig. 3-6)  

de code suivantes  
  
 piton-fixe  
 -Up Hitch. 
  

 
 

En fonctionnement avec un attelage de remorque, ou piton, on re-
spectera les limitations de vitesse  On 
appliquera la valeur minimale respective. 



 

 
 
 
 
BA_TASC_400004_Ahb_Allgemein.docx

 
 

13 

 

 

 
En cas piton ou de boule au-dessus de la prise de force, on respectera les 

cernant les c  
 piton-fix dessous de la prise de force, des charges 

 
Il convient de respecter la valeur D et la charge d'appui admissible du dispositif de raccordement. La 

ure est valable. 
 

-dessus devait exiger des approbations officielles sup-

-mande. 
 

x conformes aux normes ISO 5692 et 
ISO 20019 ( remorquage). 

 
selon la norme ISO 24347. 
 

 ZWL 30, les 
Les com-

couple de serrage des vis M20 est de 660 Nm. 

Boule 50 20 kN Calotte 50 

Boulon 25 resp. 30 40 kN Palier pivotant ISO 12240 forme G  

Voir aussannexe ou BA_TASC_400013, www.walterscheid.com/downloads/ 
 

 

 

 

ATTENTION : 

lunette de protection. 

Environnement : 
Les 

 
 
 

 
 

 

 NOTE : 
  13 

tique maximal admissible. 

 

AVERTISSEMENT : 
Lors de l'attelage et du 
professionnelle. 



 

 
 
 
 
BA_TASC_400004_Ahb_Allgemein.docx

 
 

14 

 

 

 

Voir annexe ou BA_TASC_400027, www.walterscheid.com/downloads/ 

  
 cet effet dans les barres de 

ce sujet la notice de fonctionne-
 

 
 

 

 

 NOTE : 

(p.  ! 
La fixation  

 
 

ne sont pas comprises dans la li-
vraison du support de remorquage, il convient donc de respecter les informations fournies par le con-

s'appliquent: 
 vis hexagonales ISO 4014  M12  10.9: couple de serrage 135 Nm *) 
 vis hexagonales ISO 4014  M14  10.9: couple de serrage 215 Nm *) 
 vis hexagonales ISO 4014  M16  10.9: couple de serrage 335 Nm *) 
 vis hexagonales ISO 4014  M18  10.9: couple de serrage 470 Nm *) 
 vis hexagonales ISO 4014  M20  10.9: couple de serrage 660 Nm *) 

Pour les autres types de vis de fixation . 
*) Valeurs valent pour le coefficient de frottement de 

 ).  
 

 

ISO 4762 (DIN 912) - M12
gauc  
 

proprement dit, on peut uniquement manipuler la protection coulissante de la 
prise de force. C c

et se met automatiquement dans la position respective. 



 

 
 
 
 
BA_TASC_400004_Ahb_Allgemein.docx

 
 

15 

 

 

(voir la fig. 1)  
c  L'utilisation est 

 point 3.2. 

 chet orientable (1) et retirer le boulon 
(2) de son logement.  

 Faire basculer le crochet orientable (1) dans le sense de la marche. 
 nneau de remorquage au-dessus du piton (4).  
 

lent. 
 Faire de nouveau pivoter le crochet orientable (1) dans le sens de la marche pour le posi-

tionner au-dessus du piton (4).  
 n  

 c  
 chet orientable (2) et retirer le boulon  
 Faire basculer le crochet (1) dans le sense de la marche.  
  
 Avancer le tracteur.  
 Faire de nouveau pivoter le crochet orientable (1) dans le sens de la marche 

 

(voir la fig. 2)  
 
Voir annexe ou BA_TASC_400028, www.walterscheid.com/downloads/ 

 
 

 

 Pour garantir un 

 
 Le dispositif de retenue du piton resp. boule 80 

 
 

 
 

lage. 
 

sse 
40   

 



 

 
 
 
 
BA_TASC_400004_Ahb_Allgemein.docx

 
 

16 

 

 

30 mm 32 mm X 

32 mm 34 mm X 

294 mm 297 mm  

310 mm 313 mm  

323 mm 326 mm  

330 mm 333 mm  

336 mm 339 mm  

390 mm 393 mm  

44,5 mm 41,5 mm X 

80 mm 78 mm X 
(voir aussi -Merkblatt 712). 
 

c
remplacement 

 
 

ponibles  
 

 mm, il convient de remplacer les 

cas de remplacement du dispositif de retenue, il faut toujours remplacer les ressorts de pression et de 
 

 

x 
siuvant www.walterscheid.com/downloads/anlei-

tungen/ATASC1901.0_400025. 
 

 

 IMPORTANT: 

Walterscheid 
le remplacement doit exclusivement 

 
 

 

AVERTISSEMENT : 

 
 

 Les  
 

 
 
 

 
Voir annexe ou BA_TASC_400029, www.walterscheid.com/downloads/ 



 

 
 
 
 
BA_TASC_400004_Ahb_Allgemein.docx

 
 

17 

 

 

BILD 1 
FIGURE 1 

 

 
Kipp- -Fix 
Tilting or swiveling hook for Piton-Fix 
Crochet inclinable ou pivotant pour Piton-Fix 

  



 

 
 
 
 
BA_TASC_400004_Ahb_Allgemein.docx

 
 

18 

 

 

BILD 2 
FIGURE 2 

 
Einstellbarer Niederhalter  Kugelkupplung 
Adjustable retainer for ball-type coupling 

 
 
  



 

 
 
 
 
BA_TASC_400004_Ahb_Allgemein.docx

 
 

19 

 

 

Bild 3 
Figure 3 

 

Bild 4 
Figure 4 

 

L 
Towing frame type 308WL 

L 

K 
Towing frame type 392K 

K 
 

Bild 5 
Figure 5 

 

Bild 6 
Figure 6 

 
03NF incl. Zugpendel-Ab-

-Lagerung 
Towing frame type 303NF incl. drawbar support 
and drawbar pivot 

F incl. support de barre 

KK incl. montierter 
Zwangslenkung 
Towing frame type 342XWKK incl. mounted 
forced steering device 

KK incl. direction for-
 assemble 

 


